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 � �� �	� �� ���

�����	����4.5726?

@�5 7�4.6 9 �4.58 8�4.573

& ���
 �	��!9

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!80 %�


� � ��
�� 	� ����	
� 
	����� �� 
 � ����
����	� ��
�
����

����� ?

@�[3, 6] 7�〈 4, 7] 9 �[5, 9〉 8�〈 6, 9]

& ���
 �	��!7

���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�


� (� �� 	

 � ������
K = 3−2� L = −3−2�

M = −32� N = (−3)2� �* �� �� �� 	� ����	��

����	�?

@�K = L 7�K < M 9 �L > N 8�M �= N

& ���
 �	��!8

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!50 %�

�� � ��� �� 	� ����	
� ����	�
��
���
�� ����
 �	�� ����

	� �����
2
3
(x − 1) =

x − 3
2

− 1?

@�x ≤ −10 7�−10 < x ≤ −5
9 �−5 < x ≤ 10 8�x > 10

& ���
 �	��!@

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!50 %�

�� � ��� �� �� 	� ����	
� ����� �� �� ������T(−12, 8)
��� ���	� �� 5?

@�(−17, 8) 7�(5, 8)
9 �(−12, 5) 8�(−12,−17)

& ���
 �	��!@

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!50 %�

�� @�� �� QvB = m · v2

R
����� � �� ���	� �� R?

@�R =
v

mQB
7�R =

mv
QB

9 �R = m
QB
v

8�R =
QB
mv

& ���
 �	��!7

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!70 %�

�� � ��
�
�� ����� �	3����� � 5 ��� ��� ��
�

 � ��
���


����
	� 0� �# �� 
/ � � ?

@�0.004 �� 3 7�0.4 �� 3

9 �400 �� 3 8�4000 �� 3

& ���
 �	��!8

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!80 %�

�� � ��
�� ��
���� 
� � ���
 ��� 	� � 
�� � 
�� ?

@�: 7�A 9 �> 8�=

& ���
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!60 %�
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 ���
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��� @�� ��

�� 
 �� ����� �� ���	�� ������ �����	
��� 100 �� �

���
�
�� �� 
 �� ����� �� ���	��� � � 	��� �����	
��� ?

@�20 �� 7�25 ��

9 �50 �� 8�75 ��

��� ����''(*#��
�� ���*�
" � ���(�'�



& ���
 �	��!9

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!40 %�

��� �� 
 � ���
�� ��� ������ �� 3000 �
����� � � �) � �

��	����� �� ����� ��
	
60 % ���� 	� � � 
 �� � ��
��

� �
 �� ���� 	� � � 
 � ��
	
�����	� ��	�
 �� �� 

 ���� �

��	� �����
	� ������ ?

@�20 % 7�45 % 9 �50 % 8�75 %

& ���
 �	��!9

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!10 %�

��� <������
	
 �� ����� �� ��� 	� � �� ����� ���� �� � �

���� �� :0$ ��	� �� � �	�
�� 	�� 
 �� ��� �� 
 ����	��

�
���� � � /B��	� � <������
	
 �� �� ��� '�� 		� � �� �����

���� �� � � ���� �� #.$ ��	� � � � �	�
�� 	�� 
 �� ���

�� 
 ����	�� �
���� � � 0#��	��(� ���
�� ��� �� 
 ����	
�

�
���� �
��	� �
 ���� ��� �� � � �
 ���� �
�
���	� ��?

@��� 0 7��� #> 9 ��� ..# 8��� ./$

& ���
 �	��!7

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!20 %�

�
� � ��� �����
	� �� 
� � 	��������� %�	��
��

f (x) =
2
3
x + 4?

@�(−6, 0) 7�(0,−6)
9 �(0, 4) 8�(4, 0)

& ���
 �	��!@

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!30 %�

�
� C �� % ��� ��� �	� %�	��
�� f � ���� �
������ � �

(−1, 8)�(0, 2)�(2, 2)�� ��
�� �� f (3)?

@�−2 7�1 9 �2 8�8

& ���
 �	��!8

���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!20 %�

��� � �������� �� #:> 
 �� �� �� �'�� ��� � ���� 
����

��� 
 �� ��� � �
 � ��	� 
 � # ��� � �
�� ��� ������ 


������� 
 �� ��� � �
 � ��	�� .��� 
�� ��� 
 � 	� 
�� ���

	
��	� ����� � �
 � ��	� � � # ��� � 
�
.��� �� ��
��

�� ���� 	� ��� ��� � �
 � ��	� 
�� ��� � ���� 
�� ��

	��� 
 �� ��� ?

@�:.A 7�:.B 9 �:0A 8�:0B

& ���
 �	��!9

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!20 %�

��� ��� � �� �����	�� ���
�� �
� �	�
�� 6.4 � ×
9.1 � � �� �����	�� ��� ��� �	
� � ����� � � �
� �	�
��

34 �� ×34 �� ������� 
 � �
��� ���	� ���	� �� �����

��� �� �� � �� �6 � 
 �� �� � ����� ���� �� ����� �� ���� �


�� �
��� ���	�� 
 � � � ���� 	������ 	
�
�� � �
 �� �� �

	
�� ���
�
 ��	�� ��
�� �� ��� � �� � ����� � �����
 �	� ��

� �� ����
�� 	��?

@�/B: 7�/=/ 9 �0$/ 8�0.:

& ���
 �	��!8

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!10 %�

��� � 	���� 
 ��� � ������� 25 % 
� �� 	��� �
�	
� 
�


���	� �
� $�� 65 % � � 	�
� 
�
���	� �
� .$��9 �� � ��

� ��� � 
 ��� � ���	� � �� ��� ����� � ��
�
�	
� �������

� � 	�
� 
�
���	� �
� .$ 
����� �	
� ������� ����
� ��

.$?

@�5 : 7 7�5 : 13
9 �8 : 7 8�13 : 7

& ���
 �	��!9

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�

��� '��� ���	� ���

√
(
√

3 −√
10)2 + 5 
�� � 
�
 
�� ���

����� �� ���
� � �	�� � ���
���

& ���
 �	��!2.654345277 . . .
��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!20 %�

��� & 
���
 
�� 
 �
 �� � ���	� ����


x + 2y = 3x − 1

4x − 5y = 6 − 2y.

& ���
 �	��!x = 4.5�y = 4
��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!50 %�

����� � �� ��
�

 � � �
�� �� 	� � ��
 ���	� 	��� � �� ���

���	�� ����� �	
�� �� � ��
� �
 �
 �� ��
 ��
#$.:����
�

	��� ��
�� �� 	������ � ��
 ����	� 	��� � �� ��� �� ����

��$



	� �� �����


�� � ��
 ��� �� ���
	�?

� ��
 �� '� ''� '''� '2� 2� 2'�

	��� � �� ���
3�	5

BB>B B=.. >A#$ BB.# B>:# >#0:

& ���
 �	��!>.$A

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!20 %�

���
� �
��� �� � � ��
 
	�� #$.0����
	� ��� 
�� .$

�
���
	� � 2�
���	�
 � ���	�� �
���
	� �� �� �� �
��

455.61 � * 8�) � ��	��
�� ���
	� ��
���	�
 ��
����


	� � ������ �� 
 � 38.5 � ��� 
�� � �� �
��� � ���� ��


 ���
� .$ �
���
	� � � ��
�� �� ���� �� �
��� � �
���

�� �� �
�� ?

& ���
 �	��!170 853.75
��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!20 %�


���� �9 �� � �� ���	� � 
��� � a(a+4)−3(2a−5) 	� �

��	� ������	�� 	� �	� ���	
� �� ��� �
�� 

 ���
�� 	�� ?

& ���
 �	��!a2 − 2a + 15
��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!40 %�


��
� � ��
�� ������� ��� ��� �� 
 ����	�� 
��� ��

x − 3
2x + 4

· x + 2
x2 − 9

+ 2?

& ���
 �	��!
4x + 13
2(x + 3)

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�


���� � ��
�� �� |a − b| + |0.25 − b| �� a = −3 


b =
1
2

?

& ���
 �	��!
15
4

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!30 %�


��
� @�� �� 15 ≤ m ≤ 20 
2 ≤ p ≤ 4����
�� ��

	� ������ � ������ ��
���	�
 �
��� �� m − p?

& ���
 �	��!.>

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!20 %�



��� & 
���
 
�� ���	� ����� 2kx + 5 = k − 4x � �����

�� k ��� �� 	�����k �= 2�

& ���
 �	��!
k − 5
2k + 4

���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�



�
� & 
���
 
�� 	����	� �����

(2x − 5)(5x + 2) > 3x2 − x(5 − 7x).

& ���
 �	��!x < −5
8

���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�



��� (� ���� ��� �	� ������� t ��
���
���	� ��
 �

t(2t + 9) = 5?

& ���
 �	��!−5�
1
2

���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�



�
� & 
���
 
�� ���	� ����� 0.013x−6 − 1 = 0�

& ���
 �	��!#

���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�


���� (� �� 	� �� %�	��
�� f (x) =
2
7
x − 3

7
�(� ���


�� x ��
���	�
 �%�	��
�� f (x) �� # ����� �� f (12)?

& ���
 �	��!.=

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�


��
� � ���	�� � ����� 
 � ��� ��� 
 � � � � 
� �� ���

�
��
�� 	��� � �� ������� �� n ����� 	� 
 � ��� ���	� ��

���� 	� P(n) �
����� � � � � � 
�� ���� 
 � P(n) � ����


��� �
�
%��� ���� P(n) = 2.63n� � ��
�� �� ���� �

	� � � � 
�� 
 � ��� ���	� � ��� � ����� �
����� � ���� 


�
 �
 ��� ����	� ?

& ���
 �	��!5.26
���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�


���� ) � 
 �
�
�� � �
�� �� 	� �� �����	
� ABCD ���

��
	� 
 ��� 	
�� |AB| = 7 �� 
|BC| = 3 �� � ) �

��% ����''(*#��
�� ���*�
" � ���(�'�




 ��� 	
�
AB ��
��� �����
B 	� �� �

 � ������ E �� �� ��

�� <)CED = 90◦�� ��
�� �� ����
	� ����
	� AE?

& ���
 �	��! |AE| = 5.3 ��

���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %


��
� � ����	
� �
�� ��� � �� � �
�� �� 	�� ����� �
 ���
�

����� ��
�� ��	���� �� �� ��
�� �� � ���� ����  	� ��� �

�
�� ��� � �?

& ���
 �	��!122◦

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�


���� (� �� 	�� �����������ABCD � �
�� �� 		� 
 �
�
�

� ��
�� �� � ����
 
	� ������������ ABCD?

& ���
 �	��!52.5
��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!20 %�


��
� * ����� � 
�� ��� � 
� � �� �� �� ���	� �
� � ���� �

���� � � ��
�� �� � ��� �

 
	� 
 ���
 �� ����� �� �

 
	�

�� ���� � �� 
 � 
� ����� �	
���	� �
?

& ���
 �	��!:

��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!10 %�


�� ) � 
 �
�

 � � �
�� �� 	
��� %��
%�	��
�� y = f (x) 


y = g(x) 


 �� �	��� 
 � 	�
���� ������ 
 ���������	
�

�����
	� �� � � �


���� ) � � 
�
 
�� �����
	� �� ���� �	� ��� %� ��� ��� �	�

%�	��
�� f �

& ���
 �	��!(2, 5)
���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�


��
� ) � � 
�
 
�� ���4�
��	� 
 � ���� ��� %� �
	�� �	�

%�	��
�� g�

& ���
 �	��!:

���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�


��
� (� ���� ��
���	�
 �
�� x ��
���
f (x) = g(x)?

& ���
 �	��!−1, 2
��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�


�� � ��
��
	� ���
�� � 
 � ��� 	
�� � ���� ��
�� � 
��	��


 � �
	�� �	� ��

 	� � ����� � �
����	
� �
��� ��� �� ��

�� ��
�

 � 	� ����	
� ��� ��
� ���
��
	
���
�� �
�����

��&



	� �� �����

���	�� � ����� 	�� �

� �
����	
� ��
� �
��� ���
� � 3�� 5

0 225 480

���
��
	� ���
�� �

 � ��� 	
�� � �
��� � � 3D 5

41.2 26.8 10.48


���� @�� �� 	� � ������� ��� � ����� 	�� 
 � ��� 	
�

���
�� �
� 80 % 	� � �	��	����
�
�� ���� 	
�� � � �
���


 � ��� 	
�� ?

& ���
 �	��!51.5
��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!10 %�


��
� � ��
�� �� ���
�� � �����
 
� �� � � ���� ��
���

� �
����	
� 100 �� 	� ��� � � ����� 	��?

& ���
 �	��!6.4
��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!10 %�


��
� (� � 
�
 
�� G(s) �� � %�	��
�� �� s ���� �� s
� �
����	
� ��� �
��� ���
� � �� G(s) ���
��
	� ���
��

� 
 � ��� 	
�� �
����� ��� � ����� 	�� �

& ���
 �	��!G(s) = 41.2 − 0.064s
���� ��������	 >��� �����

��
 ���� � �
���
 �	�
 �
!0 %�

��� �	�� ������� ��

.��� �� �� ��� ����� �� �
�� � �����	� �� ������
�
����

�� ����	� �
���
 
�� 80 % 

 � 
�� 	
� ����	
�� �� #�	
����

���
�� 
� �� 	���
 �� �� �� 
	%��� � �
�� � � ��� � ,
	����

�� �-�'� �� �� 	�
���� � ����	� 	�� �� ������ �� �� �� 


:��� �� �� � �
���
 � ����	��
 �
��	� �� �� ��� 
 � ����
 � �� �


	� 
 � � �� � ������� �� ���
	��
 � � � 50 % 	�
� ��

� � ����
�� ����
 � �� �� 
���
�� ����� 	��������

* �
��	� �� 

 � /�
0��� �� ���� �����
 � �� 	�� ���	� ����



 � � �	��
�
� >��� ������� �����
	� �	

 �
 �� � � �� ��

	
	
���� �
�
� B��� ������ '� � �

 � ��� � ���	�
��

�
���
 
�

��� ����
 � �

 ��� �
50 % 	�
� 	
�� � � ����
�� � �

 �

��� 
�� �� �� ��
� � �
 ���� 	

 � ���
�
����	� �������

����* �
 �
�� �� �� ��� ����� �� ����� �� ��� 	
 %��� 
�� �


�� �� 	� %��� ���� �
���
 
�� �� 70 % 	�
�� 
� �� 
 � ��

� ����
 � �
�
���
 
�

 �
�

��
� ��� ,�� � ��- ����	� �
���
 �	�� �� �� ��� ���� � ��

����
 �� � � 	����	�� 	� �� �

 � 	� 
 �
�
#�


�
�� ��

� � �� 
 � B� 
>� �� �� �� �� � �� ��
��� �� �� �� ��

���� ��	� ��� �
�� �����
���	
� 
������ 	� ����
�� �

�� �� �
���
 �	�
 �B��� �� ��� 80 %�� >�60 %�

=�
.$��� �� �� � 
 � 
 �� �� �� �� �����	
�
�� �� ��
���� �

�
�� ���� ��	�� � B��� �������� �� �� �� �����
�� 	


������� �! =��� �� �� � 3�����	
�� 5 �� �
���
 �	40 % 30

����	
�� 	
�� 	
�
� ����
 � �� �
���
 
�
�� 5�� .$�3� �
 ����

�
5 �� �
���
 
�� 
 � � � ����	
�� ���� �� �
���� �
 	��	�

�
 ���� � ��� �� �� ���� �	� 	� 
 �� �� 

 �������� �� 	�


 �
� ���� � 	
�
 �
� 	� ����� 	�
� � � ��
��� � ��� � ��
�

0	� �����
� ������� �� 3
 �
�� :5�


�
�� &�%�
	 ��� ����� � �� ��� '(��� �� ��� .���� <���#� ����=/

'� �� 
 � � 
 � 	� �� �� ������ ����� ����	
� ����
 �	�� �

..�
.#��� �� ���� 
 � � � 20 %� ��	�
 	� 30 % ��

�
�� �
���
 �	�
 � �
� �� �� �� �� � 
 �
� �� �� .#��� �� �

�� � 3	������������� �
�� B��� ����� 5 � ����
 � �� �
���
 
�


70 % ����	
�� � � ..�3� ������ 
 �
�� �� �� �5 
 � � �

40 %�

) 

 � � �����
�� �� �� ��� �
���
 
�
.:��� �� �� � ��� ����	
�


	

 � ���� �
�
� �����	� ��� �
�� �� �� ��� �� �� ���� ��


 � 
�����
���

* �
���
����� 	� ������ 
 �
./��� �� �� � ���
�� � ��

���
 � �� �
���
 
�

 � � � 40 % ����	
�� �� � ����
�� 	�
�

��' ����''(*#��
�� ���*�
" � ���(�'�



�� ��� � ���
 �� �� ����	�� ����
 �	�� � + ���� �� � � ��

� �

 ��� 
�

 �
�
 � ��	��	��� �
�� 

 

 ��� � �
��	�
 �
�
 �
�

�
�� �
�� �� � ��
����	
�
���
�� 	

 � 
� � �

 ��� ��
��
 �


�� ��� * �������
� .0��� �� �� �� �� ����� � ������ 
 �
�

����
 � �� �� �� 
 � � � 20 % ����	
�� �����	� ����
 �	�� ��

���
�� ���	� ����	
�� �� .A��� �� �� � 	
�� 	
��� ����	�

�
���
 
� 3� �
 ����
5 
� �� 
� �� 30 % � ����
 � �� �
���
 
�
��

��� �� �� ��� �
� �� � ������ 	� � ����
� 

 ��� ��
� � �

 ���

���� 
��� �
����
����
�� ���� �	� ������ �� �


�
�� 0� : ��� �" �
	 ��� �� ��
�� ����� � �� ��� '���� �� ���

���� 	� ������ �� ����� �� 	�� � ���� ��
 �
�� 	�� �� �� �� �

�� �
�� 	� 
 � � �� � ������� 
 ��� 
	� '���
�
� 
��
�


�� �������� ��� 
 � � �����
�� �� �� �� ��� 
 �
����	
�


�
���
 
�
.B��� �� �� � 3��� ��
�� 	��� �����	��� 	��� �� �


 �� ����� ����� 5 ����	�� � �
���
 �	�
 � �� �
�� 20 %�

(� ������
�� 
 � � �� �� 
 � ,	� � ��
� �����- .B��� �� �

�� � � ��� ��	� �
�� � 	��
�� ���
�� � �����	� 
 ����

	���
 ���
 �� �	� 	��� * .>��� �� ���� 3
 �
 �� � ��
��

�
	�� �	
� ���	� ����

 ����� � 	�� ��	� 	
�� � � 5 
 �


 � � ��
����	
�
����� 	�
 
�
� � � �� �
���
 �	�
 � �
��

50 %�
� �� 
� �� � ����
 � �� �
���
 
�
70 %�

'� �� �
� �����
�� �� ���	���� 
 � � � 20 % � ��
�

����	
�� �� .=� �� �� �� �� ���	�
 �� �� 	 �� �� �� � 


� �
�� ��
����� 
 ���
	�� � �
���
 
�� ����	�� � #$�.�	�
�

40 %� 8 ���
�
� #$��� �� ��� � � ����	�
 �� ���
�� 	��

� ����� �
 �
� �� ���� � �� � 	
��� 	
�� �
���
 
� ����	�� �

� ����
 � �� �� 
 � � � ���	� ����	
�� �

#.��� �� �� � �� � �
 ����	�
� 	
�� �� �� �� �� 
 
���

,� �

 ���	�� - �
���
 �	��
 ����#.�.���� � 
 � � 
 ����	��

��
���	��
 ��� ������� �����	� �� �
���
 
�� 30 %�� #.�#��

���� �� ����� �� � � �� � � ��	�� � � 	� �
�
	����	� ��
 �


������� �20 % ����	
�� �

��
� ��� � �����
 �� ���� �� ���	� ����	
�� �
���
�� ��

����	�� ������� �� � ������ ��� 	� 
 �
�
0�


�
�� ��

) � ��	���� ����
	� ����	
�� ���
	� �������� 
�



	����
 �� � ���
 �� �� ��� ��� �� ����
 � �� 	�� � �

���	
���
� �	� 	�
 �
� � �� �

 � � ���� ���� 
 	
�


,�� � ���� � � ���
�� �� -�� � � ��� ���
�
� � ���

��	��	��� �
���

8 �
�� ����	
�� ���
 ����
 � �� �� ����
	� � ���
 �� �
� �� �� �

�� �� ���
� ���
	��
� 	�
���
� ����
 �	�� 
 � 	� 
 �
�� � �

A�B
>�


�
�� -�


�
�� >�

(� �� �� � #0�#�����	
�
	
�� � ��� �	� ����� 	���� �� �

������
�� 	�� �
 ���� �� 	

 � � � �
��� �
�� �� � ����	���

� �
�� ����
 
� ���� �����	� �
���
 
�� �

6 ��� ����	
�� �
 � 
���� �� ����	� �
���
 
�
#A�.�3� ��

���
 
	� ��� � ��� 5����	� �� 	�
� 
#A�#�3����� �	�� ����



 ���
 �� 5�� ����� #>�.�
#>�#�3�
	�� �	� %�	��
�� 5�

� #A�.�����	
�� 
 � 	
�� � ���� 
 ���
�
%��� ��� �� � ��

���
 
	� ��� � ��� �� � 
 � ,
 	� �
 �� - 
 � ����
 
	�� �������


� �� �����	
�� 3
 �
�� >5�

���



	� �� �����


�
�� ?�%�
	 ��� ����� � �� ��� �� �� ��� �?�'�
�?���

6 ���� � ��� � 	� � �� �	��
�� �� 
 � � ��
� � �� � ���

�
� �� � ����	� 
 � � � ����
 �	�� �� �� �� �� �� ���

 � � 


����	
�
� ��� �� �
� �
 ��� � � ����
 � �� 	�� �

) � ��� �� 
 � � � ������ 
�� ���
 	� � 	�����3
 �
�� =5 


	� ��� �� �� 
 � � �� ��� �
� ����	
�� �
 �
��
 �
�� �

�� ��	�
 �
��	�
	�
���� � ����	�� � � ��� � �
���

� 
 ����������� ��
�

 � ��
���
�
����	��� 	�� �� �� �� ��

	� ����� �	�� � � ���

� � � ��� � �
�� � ����	�� ����

#$.=�

����	�
��������
�������	����

�%�

�	�������
 �!���

	�������� 	3.5 0 − 24.99 0 − 9.99

������� 	3#5 25 − 46.99 10 − 18.79

���� � 3:5 47 − 66.99 18 − 26.79

���� ���� � 3/5 47 − 84.99 26.8 − 33.99

���
��� 	 85 − 100 34 − 40

�� ��
���� �

) � ��	���� 
 � � ��
 � ��
� �	�� �� ������
�� �� �� �

 �

�
	� �
� ����	
�� ���� 	� ��	 �
 	��	� �
 ���� ��
 � �


 �� 	�� �
���
 
�
�
 	��	� �� �
	� 
 � ���� �	�� ����	�� �

(� ���
 	� � 	���� � ��� ���� �� �� ����	
�
��� �	� �����

	���� �� �����	�
 �

 � 
�� �� �


 ���
 	

 � �� �� 
 � ����

�
� ��� � ���	�
�� �� 	������ ����
 � �� 	�� � ���

 ����


� �
 	��	�� �
 ���
� ) � �����
������� � � �� ����� ���


�� 
 �������� � � ���� ��
 � ��
� �	�� �� .BE/$� �
 ��

�
� ��� � ��
���
�
� � ����� �	� � � ���� ������
�� �� ���

��	�� ������� 	 3���� ��
�� ����	� ���� �5� � �
�� �

�

 � � ����
� ���
� ���
 	����
�� ����
 �
�� � �� ���	�


�
�� )�@� ������ � �����


� ������	� 	�� �
� ��� ���	�
 �� ������� � �
�
� 
���

��
����� � � ��
� �����
�� 	�
� � �	� �����
������� ����



 � � ���
� �
 �
��
�
� �
#=E/$� ��	�
 	� ����	� 	�

� � ���
���� ���� ��6 
 
� ���� ���	�� � �� �	�� � ���

����� ���� 

 � 
�� �� ��� 	�� 
�	� � �����	
� ���
��

����	
�
� � � �����
� �� �� 
 � ,

 � �� �
- ���
�
�����
���

	� ��
��� � 
��� ���
���

A 34 B� 84  � 8

'*C���� ��� 	 � ���� 
� 	 � ��	 � �
��!������� �� �
�� !�����


��� �(')�https://carnet-my.sharepoint.com/
:b:/g/personal/mirjana javor skole hr/Ea
M81KstbnJLjTeHB5GPmzMBVLGURvGsWqth4D3Rw
CM8yg?e=387Bod

��
 ����''(*#��
�� ���*�
" � ���(�'�


